PANDEMIC PUPPIES

1. Which sentence does not explain why more
people adopted dogs at the start of the
pandemic?

a) Many were not working.

b) They were working from home.

c) They saved money, and could afford the
expense.

2. Which sentence is closest to what Ashley
Roberts says about why people returned
dogs?

a) The dogs didn’t get on well with their
children.

b) They had underestimated the amount of
work required.

c) They decided that they preferred cats.

3. Dogs adapt to going to a new foster home ...
a) very easily.
b) with no trouble after a while.
c) with considerable difficulty.

4. The number of dogs in the shelter featured in the report has ... since the start of the year.
a) decreased
b) risen slowly
c) almost doubled

5. Why is the number of puppies increasing?
a) Dogs are naturally becoming more fertile.
b) The phenomenon is not yet clearly understood.
c) It is now more difficult to make dogs infertile.

6. The man interviewed near the end of the report ...
a) fosters dogs temporarily.
b) has never had a dog before. 3.
c) regrets that five of his dogs have died.
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